| Efficiency vs Dxy |

0.2
<

§S) :
®.18[

@.14_— """

.....

o o
o
IS

TT T T[T

..................................................................

o

k o

N ON
£

0.8k

-25 20 15 10 —5 O 5 10 15 20 25

TP dxy (cm)

—«— DQM_V0001_R000000001__Global

—=— DQM_V0001_R000000001__Global__
| Efficiency vs Dz | —e— DQM_V0001_R000000001__Global__
__mkFit_jcoreNoClean

mkFit_baseline
mkFit_var

N 0.2
o

%.18_— """
o)

Bus

Q -
.14
(D)

0.12

o
=
T

o

k o

N O N
—|—m—'—||||lll|lll|ll

110 S S N | 1
Il{ " w..-..... """"" | ¢+++i# 1
:_‘E' -1 * '. i r 1 1 --1.--L
lf_ L& . % 1 .".E_..ﬂ *}#%*+* '::'““E” - %

|
W
o

20 -10 0 _ 10 20 30
TP dz (cm)




	Contents
	Page 1


